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PART -1

Child Development'and
- Pedagogy

Pre-operational phase of cognitive
development is-

More than 11 years
From 7 to 11 years
From 2 to 7 years

Upto 2 years from birth

oow>

2. 'Formulated theory by J. Piaget is-
A. Cognitive development
B. Motor development
C. Social development
D. Physical development

3. Development of Child starts-

= |V

1. @sTeHeh foreprer oy et-wifsmercrn STEl
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B. Before Birth B. Gm:r@rtﬁ
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. Before pregnancy
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4. ﬁmﬁww

4 Who said? ¥ «Fre T,
“Adolescence is a period of great X | 3 HeT, j N e
stress and strain, storm and strike”. . forder <t araeaT 31" '

A. Crow and Crow | A. IR
B. g
Stanley Hall . .B. g
C. Hunt
D. Simpson . | o
| % D. e

S. Whose statement is this? i 5. ag e fheehIE? '

“The scope and intensity of learning Sryrararee & W@ i G S AT,
during infancy exceeds that ofany 2 ﬁmgﬁ >t Rreft mﬁwﬁaga
other period of development”. : _ m 'é"l?ﬁ%l” :
A. Watson = g,
B. Skinner R e
Cr Freud: =3 ¥ ki i fine ko B. T

. D. Adler 7 g | C. wEE

6. Which is not included in the process

mmmﬁﬁmmam{)

_ of development in Adolescence‘? R o
A. Phys:cal development | o M, ﬂlﬂ'ﬂﬂ?ﬁﬁm‘f
: ](3: fental de\;eloplment t Sl B o f )
. Language developmen . B
D. Emotional develdpment'_ | i -C. Wl%l?m"iﬂ S
' FRE L __D."'Ga‘llcﬂ & fape
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7.

Reasonmg Curiosi

- - “Development results in new

characteristics and new ablhtles on the

Whlch one is not a prOJected method? :

A. Rorschach Test :
B. Thematic Apperception Test

~.C. Children Apperception Test

10,

D. Stanfqrd-‘Binet_Test

Quantitative and quahtatwe aspects
are include in- =

are developed at t];;y a’;;dogbservauon Ts EI%, IS EIEN ﬁtﬁﬂmmﬁﬁﬁm ¥t -—--
A. 7year — T Y H BT )
B. 6 year A. 798
C. 9year B. 69%
D. 11 year Rvon 9 9§
| ‘D, 1199

8. “Rrepra % ahumrerey safe § T

! : I”
part of Inleldual” w 3&( Waﬁ?%mm ﬁf?ﬂ'%
- This statement is given by- %Wﬁ?ﬂ?ﬂm :
A. Hurlock’s A, &R H A
B. Freemen’s B. BT e Wler 3
C. Cattell’s o :
D. Woodworth’s ey i

: aﬁqﬁuﬁﬁaﬁﬁ@%‘?

A. Tuit adieor

ol B, Wa’!ﬂ‘ﬁaﬂ '

D. éqqﬁéﬁx%tr&m

i qﬂmwwmmtmuﬁq%amﬁ :

A. In mtelhgence ' A. gﬁzﬁ

B. In dev§:opment_' *B. _ﬁmﬁ
P C. In family ¥ - C. qfEm#
- D. In community

' D. WREEH
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11 Who is the father of Personal
- Psychology? .
A. Freud
- B. Adler
C. Hurlock

D. Yung

12. To which stage, Emotional Functmnal

game is related-
“A. Infancy’s

B. Childhood’s
C. Adolescent’s
D. Youth’

13. The gland, which mﬂuence the
Physical Development i is-

A. Adrenal
B. Thymus. i
_C. Pineal : s
D. Pituitary

14. Social determinants include all the
~ following, except-

Family relationship

. Birth order 4
Neighbourhood

.. People’s behaviour . .

oW

[, mﬁmq@zmwwm%

14, Hmﬁﬁﬂﬁﬁmﬁffﬂﬁlﬁ% aﬁa@ﬁr

: -":}"_,-11 ..a’lﬁﬁlﬁﬂﬁﬁﬁﬂm ﬂ’f%"

B. e
C. &
oD, AT e
12 Gﬁm@aﬁmww%?
A. dererehret St o
TSR, AR
D. JaTET HT i PR

A, Q;‘hﬁ
B, 9FmE

s
A. TR Ty o |

-~ B. S
CowmeTTT
D. Tl %1 =R
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15 IHWI?;:S ffottlzset;ollowmg is example of 15. Fret i A A AT SIS SRoT S SEE
- A. Award . | 2 . }
B. Hunger ' A, e . 8
" C. Punishment | .B. ¥4
D. Incentives C. s
' . D. SERT | :

16. -According‘to Jean Piaget, which of the 16. i+ frEms %ﬁ FTER N CER AT C R
following is necessary for learning? s

o e el freferfaa # & s 2mavas 37
. Active exploration ot the '
environment by the Learner. ~ A ﬁTWmmﬁtﬂTEﬁr'ﬂﬁW@?
B. Observing the behaviour of adults B. SR % SHEER FHT SAAIFA FEAT
~ C. Belief in immanent justice C. ara= =g ¥ |
" D. Reinforcement by teachers & D. ﬁT&’Fﬁ 3 awfﬁwraa?rmag«ﬂw“r
parents : g

- 17. Children with special needs geta | 17. fomiw STTETEAT Tl Sed T hy fRrer e

better education in regular school than fereer i st fafie Rene T aEw
- in a special school because, there is- : St & e, a2 :

A. No gender discrimination

B. Equity and equality = IS S % Tﬁ

C. Competition with normal students B. sfad ammE
D. Good Cooperation . R oo Wmﬁuﬁwﬁ
“ _ T D. 3To3T GEEnT
18. “Children actively construct their : @ ‘aﬁﬁmmﬁm%aﬁ:ﬁaﬁ

understanding of the world” is a mq;[ﬁqfurm'%p’ s FU & e
statement attributed to- Srer e ST - ; :
A. Kohl '

o EoTeE . A. et
B. Skinner : :
C. Piaget : B. i
D. Pavlov ' o C. fEm

D. TEAE

SPACE FOR ROUGH WORK / % w % oy e

SR 1111111111111 e



19. A 'student enjoys’ 1eammg the gmtar

J

and derives satisfaction in spite O
long hours of practice. The student iS is- ﬁa?ﬁﬁlw % e
A Trylng to please his teacher ﬁm‘&ﬁ a»?r@'ﬂ Wﬁ'iﬁm
B. Competing with others for praise I'L\‘T%l
C. Intrinsically motiv_ated o E f?ﬁaﬂﬁﬁﬁmﬁm
- -D. None of the above e
D. :m‘RE B g el
*20. ‘Adolescence is the i)\eriod of- 20. fgirERT 76 I &
A. 5-10 years ‘ - A. B 103’&
2 ;;;g VR . B. 11-197
. 22-28 years Lhs
D. 30-40 years w0 28
D. 30- e |
_ , el C s s
21. Which of the following is not a 21. ﬁm%%ﬁﬁ%@qmwmﬁﬁ%? :
compone.:nt of cognition? A Wt
A. Feelings I e
B. Thoughts Sl R
C. Attention .-C. ®H
D. Perception D. grem
22. Which of the following factors hinders 22. ﬁﬂﬁf@ﬁﬁﬁmmm (
 successful inclusion of students with (femr) ﬁwrrmm@(maﬁ%ﬁqqﬁ ‘
locomotor dlsab1l1t1es? Wﬁﬂ?ﬁ@%‘? SR
A. Flexible curriculum R e o o3 3
i NS AL ST ITSTRH
B. Inaccess:ble infrastructure el - :
C. Empathetlc attltude ‘ B S Rl [:”ﬂm_
D.. More than one of the above C. et & o
D, I H T A
1
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23. Development occurs in human bEings_

A. Upto the end of adolescence
period

B. Upto the end of chlldhood
C. Upto the starting of adulthood
D. Throughout the life

24. Centrally sponsored scheme of
mtegrated education for disabled

children aims at providing educationa]

opportunities to children with
disabilities, in-

A. Special schools
B. Open schools
~ C. Regular schools
D. Blind relief association schools

25. Match the correct option from
Column - A and Colmnn B.
Column - A
~(a) Dyslexia
(b) Dysgraphia
(c) Dyscalculia
(d) Dysarthria
Column - B
() Reading and 1anguage dlfﬁculty
(I) Difficulty in arithmetic skills
(II) Difficulty in writing skills
(IV) Difficulty in speaking ab111ty
a-1, b-11, c-111, d-IV
a-IV, b-I11, c-1I, d-I
a-I, b-I1I, c-1I, d-IV

a-IV, b-I1, c-11, d-I

oo w»

23. mpsa # farehm Sy 8-

A. Frauaen & g as

B. 99T % 37 q

C. aI&har Y yeard a%
. D. Sl |

24. Ry st 3 fotte v R B 3%

ST ATt 32gd et sreat
fore Rifdrer Srere weT T B-

A. R

25. W - A TE FHTeW - B & @l fspea F
j AT - A<
() %w’rﬁmm

" (b) TeamiEaT
~c) . Teakasgpiamn
(d) Teuiemr

HTeH - B,

(D) ugH 3T T S i
() ST HIeTe § ST
(III) ST YA J PSR
(V) e sht & 8 oS

A. a-, b-IL, c-IIL, d-IV
B. a-IV, b-III, c-II, d-I
. C. a, b c-II, d-IV-
D. a-IV, b-II, c-III, d-1
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26. tion Q@ﬁmﬁmm
Responsibilities of a speclal educa (a) Wwﬁaﬁzagﬁ W'ﬂ'ﬂ:tl

teacheristo- - |
.. (a) Provide one-on-one tutormg b) Frgfere wlieor T ST ‘Elf(l S
(b) Perform regular testing and © fyemeff 1 [EP X IP] }ﬁf@?{m%
assessments. I’I‘Iffﬁﬁ
(c) Modify lesson plans to allgn with o Tt 1 ol
a student’s IEP, ) wHTHES Wmmﬁl
(d) Treat all students ahke f ﬁ:qf%ﬂf@ﬂ %ﬁh‘c‘l"’f ff @fﬂﬁwm E'EFI
~ Select the correct answer from the - - AR
~ following options. .
iy A, ¥ (a) (D)

A. (a)and (b) only
B. (a) and (c) only . e B *had (a) 3 (c)

C. (@, ®and(conly = . - C. %99, (b) 3 (c)
D. (a), (b) and (d) only /D wEE 0@
27. Wmmﬁwﬂﬂﬁ

27. Creativity is usually associated with-

A. Imitation %—
'B. Modelling - _ N
C. Convergent thinking S q‘igl%m
‘D. Divergent thinking G s Ria
| © ~D. FWEREE
28. The Right to Education Act, 2009 28, fa o TRERR SRR, 2009&?[3%3
- aims at making a free and compulsory Pﬂ;wa;at—cﬁa;mwaﬂ(eaﬁaﬁ
education a right for children upto- . ﬁT&ITEh:f " AR AT g
A. Elementary level RE § A & :
B. Secondary level '
C. Higher secondary level ‘B. AeAfi W
D. Graduate level ' - C. Feu TSNS W
' ~ D. FERER
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Arrange the steps of curnculum. SIﬁ-TEIT i
2_9 adaptation process- - j 29. qTgFH EEE I % Eﬁ
(2) Determine need for curricular AT hi- '
. adaptations. (a) TSTEAT SATEHE o A SATETIHAT
- ® Iillentlfy elements requmng =51 Prefoom)
| adaptation. E‘W‘fﬁﬁf STTESIFAT @
(c) Implement curricular adaptations, (.b) T FE Eﬂﬁ at_cﬁ
d). Select teaching and behaviour . !
* " management techniques. (c) gt Stqepe A FC
A @OO)>DE) (& Rreor i srrere s Al 1

=T HAT
‘A. (a)—>(b)—>(d)—>(c)
B. (a)—>(b)—=()—>(d)
C. ()= (@ —>(b)—>(d)
D. (d)—>(b)—>(c)—>(a)

B. (@—>()—(c)—(d)
c. (©—=>@)—>(b)—>(d)
D. (d—>®)—>(c)—(a)

30. To cater to children from ~ 30. aﬁﬁ%@%mﬁmaﬁ@ﬁ
disadvantaged backgrounds, a teacher ¥ foTu, weh fregen 1 =feT-
should- . ! it - 5 SR
A. Try to find out more about them | - ﬁaﬁﬁ 3ﬁt . ﬁ . .
and involve them in'class N a%aﬂ(ﬁ%ﬁfﬂi‘fﬁ i F
discussion . .- B. 3 HeTH AT Y qI™
B. Make them sit separately in the Cii aﬂé@ﬁﬁﬂ%% ATDE |
lass : -
P s o - Sl e TR 8
C. Ignore them as they cannot _ i
, v 1D ﬁagqﬁé%ﬁaﬁ_‘qﬂ?ﬁ

interact with other students
_ D. Give them a lot of written work
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PART-II 4

Hindi

3L Rt s i et o vy o €T
ﬁmm%g@ﬁwﬁmﬁ% |
A. 20
B, 057, RS
. 21 |
D. 15 .

32. argier firg i ST 6 SRR
Wﬁﬁmﬁﬁﬂﬁmmwﬁl
A. TGS

. B. g

C. wgst

D. dgfs

33 Afa+ At = @R
- 39 Gy foreae O sniar T |y 22

34, ﬁamaﬁém#a’ saamm%faq

wmmﬂ%ﬂaﬁﬁﬁﬁw%@

. D. 3R ;
35, ﬁ%ﬁﬁmﬁﬁﬁﬁaﬁﬁaﬁmf
I dife-
e LSD I
" (a) WRUE @) foefiamss
() IwEE () [ETR
(c) e (D) IEIsE

(d) EER (IV) REHT I |

A, b oIV, dI
B. a-IH,‘I b-1V, c-1I, d-1

< C. alL, b1V, c-L, d-III
D. .a-I, b-IIL, c-1I, d-IV

El’l:ﬂ Wrﬂw‘h‘qﬁ’rmwﬁaaﬁ
ﬁ@f'ﬂ“—ﬁﬁtﬁrﬁaﬁl

' Hﬂrﬁamﬁﬁw%@ql A Edt
A. derERr T gm
B TrERHR C. i
C. uUEEy D_.f% ' o
D. Iafg wWREf i A
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- 70 18 TR PSR RN e a0 ﬁammmmwﬁaaﬁﬁq
s A A fofae - : e
i - : - (a) T () . e, =H 6
AT b , (b) (I e
s L R - () 3 (r) g, T
.Cc. W o X @ FE (V) E
p. & | A. a-11, b-111, -1V, d-I

B, a1V, b-Il, c-I11, d-I
_ C. a1V, b, ¢-I1, d-II
D. a-IL b-IV, c-l d-II1

38. @mwﬁ%ﬁwmm ey ﬁéﬁ@%ﬁaﬂﬁqﬁ@hﬁrm

AR S e aﬁeaﬁ 2 | gt 1 geft - 10
A. T e AR (a) @ m =
s T S s o ) SRR (D RS
. c. vl U E) ST ey (D R
R Mo AN T (V) ¥

A. a-IL, b-TIL, c-I dIV
B 5TV, b-IL c-III, d-
. C. a1V, b, c-IL, d-I
D. aIL, b, c-IV, d-II

39, Wmﬁaﬁ?mmﬂ%ﬁ%ﬂ O “grar’ ww%\aaﬁ'—r@rm%m

gTfer S o | AR fore- SNk |
A, TR HEE | ' A. SafeaTa w
. B. Tl EAE . B. WrEdT=eh |3
C. fayonme C. STfererrsre ST
. D. gshife que D. THEATE U3
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o 43. ﬁ&&@aﬁﬂmﬁaﬁ@ﬂtﬂﬁl AEC

:ﬂﬂﬁmﬁaﬁwmﬂﬂaﬂﬁ?

: s et 8 & e
‘A, PepEEEEETm
B. PemmFwd™

. C. waETEE edTm
D. Hevyarss 9aqH

44. g R ER A ,

STeh T & I | Ao &7 |

A, TS R i

B. q@mﬁmﬁ!ﬂw :
*C arﬁff‘aaqﬁqmﬁaaférﬁw
) méqmﬁﬁw b

A
e S g fafaa)
- A wamaﬁwg?ﬁam

B. mﬁwaﬁtqﬁﬁm

D, Hﬂaj&"ﬁﬁ@mﬁﬂﬁ '

¢, 3P AR R
Sy T o T A AR ik
A. gﬁ@wmwﬁm%m : '_}50.

v, JC. @@wmmaﬁm

48. m%mﬂaﬁiﬁ%m sﬁ?ﬁ%’rﬁﬁ

« B. 3= T T

¢ D, T T 9 T =

maﬁwﬁasﬁﬁﬁ@fﬁqﬁm b
A. TS Y 3 HH FHEHT 1.

B, RemTaRmF \‘
D. whAgF IR IEE
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ol

i ﬁgwmﬁ%“ﬁ%ﬂ s aaa’iﬁwmmﬁrﬁm o e

-1 - . A, SITE Bt 8l _
@ afeeral SO () %{}!Lm B wra-Rrar & e {1 _
o FEEEEE 1) few - c. wftes R A et
() TERAST (D) TG T gy P, a2 g
(d) TAT (IV) @r 3 i fowic 3

A, oL b-IV, c-I, d-IIT
/B- a-I11, b-I, c-IV, d-II
C. IV, beIL el d-II

D. a-L b-IIL c-I, d-IV 1 e Ty

5. RATA TR B A A T ARRE R (53, fared et s 3 weh oy 7 FAEROT
Ui RIS TN AR RIS
@ ok . (A) S .A. 183’&3]%31!31‘-’!'

5

FosA - (IV) T -
im(l)%‘ —$(II)(—+)(IIi _ B. 167 o i
' ' e ' . 1omdHremgE
B. @M)—>IV)—>@O—>(D o - #

| 04 ¢ it 77
c. O~>UD—->AV)—>d) : ' :ﬂTg

_D. (HD)—>(AV) =D — (1) - g B -
51. maﬁmﬁw-ww%m 54. muﬁaqui%ﬁﬂwzﬁm%@ﬁﬁ

A. T Rererdt ST TR - A RmwE A
B, FRWRFAT S B, ffaq v TR TR
C. ST UL i T C. suATen e |

D). aﬁﬁtmwﬁw. _ e oty @Erqm!ﬁ&
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SD. AT ot B @
(56 i s v s P
YRATT LT STfRC-
A. T AETFE
-B. W forgame
< G WWWWW
D. Rt i el & o e

57.. Wawﬁmﬁ'g@wﬁﬁaaa;_ .

A. ST HETEAT

B. @HHEAT

C. TEIEEWEEAT
- D. ST &t

i 6,
D

60. s et W%ﬁa’uﬁw

g
g3 AT 5

FHY -

'A_

HE

Yt uT@ET ST wehar B

T ST ST Sy TS T
geifer g =Ry
Wwﬁmaﬁm(
éqT*ﬂ%E: |

mﬁaﬁ%mmm

=iy 2 .-'_'?%:-"T-\_“!v-

i ‘mmﬁmﬁﬁaﬁwﬁ

=.;;_';;_‘.,_.'_.-._ _P s T D T
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_English
carefully & choose the appropriate
answer from the options given for
Que. No. 61-69. P

Passage - ‘A’

'If we consider what happens in
conversation, in reveries, in remorse,

in times of passion, in surprises, in the
instructions of dreams, wherein often .

we see ourselves in masquerade, --the
droll disguises only magnifying and
enhancing a real element, and forcing
it on our distinct notice, --we shall
catch many hints that will broaden and
lighten into knowledge of the secret of
nature. All goes to show that the soul
" in man is not an organ, but animates

~ and exercises all the organs; is not a.
function, like the power of memory, of -

calculation, of comparison, but uses
these as hands and feet; is not a

faculty, but a light; is not the intellect

or the will, but the master of the
intellect and the will; is the
background of our being, in which
they lie, --an immensity not possessed
and that cannot be possessed. From

- within or from behind, a light shines

.through us upon things, and makes us
aware that we are nothing, but the
light is all. A man is the facade of a
temple wherein all wisdom and all
- good abide. What we commonly call
- man, the eating, drinking, planting,

the following Passage ‘A>

PART-II_I- MR oy ‘.-- '

counting man, does not, as we know
him,  represent  himself, but
misrepresents himself. Him we do not
respect, but the soul, whose organ he

" is, would he let it appear through his

action, would make our knees bend.
When it breathes through his intellect,
it is genius; when it breathes through
his' will, it is yirtue; when it flows
through his affection, it is love. And
the blindness of the intellect begins,
when it would be something of itself.
The weakness of the will begins, when
the individual would be something of

~ himself. All reform aims, in someone
- particular, to let the soul have its way

61.

- through us; in other words, to engage .

us to obey. -

According to the passage A, what role

does the soul play in human

existence?

A. It acts as a mere organ that
operates independently of other

- faculties.

B. It functions as a faculty, like
memory or calculation, guiding
human behaviour. ‘

~ C.' It is the background of human .

existence, animating and
~ controlling all other faculties.
D. It serves as a source of weakness
and blindness in human intellect
and willpower. -

——
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~ 62. How does the author describe the role

of the soul in relation to the mtellect
and will in passage A?

A. The soul is subservient to both the
intellect and will.

B. The soul is the master of both the

viis b intellect and will.

63.

64.

C. The soul is unaffected by the
‘intellect and will.

D. The soul is controlled by the
intellect but not the will.

Accmdmg to the passage A, what
happens when the soul manifests:
through human intellect and will?

~ A. It leads to genius and virtue.

B. It causes blindness and weakness.
C. Itresultsin eatmg, drinking and
- planting. o
D. It magnifies and enhances human'
disguises.
What is the ultimate aim of reform, as
suggested in the passage A?.
A. To suppress the influence of the
- soul on human actions. |

B. To encourage individuals to assert

themselves mdependently of the
soul. :
C. To allow the soul to express itself
‘through human actions and
behaviour. - -

D. To prioritize intellect and

willpower over the influence of -
the soul. '

65.

66.

67.

the passage A?

: show that the soul in Ir-l":-fj’
L but ammates and

is Ilot an Organ’

rgans.’ " " ;
es all the 0

What is the functi
in the sentence’

A. Preposition il ol f
B. Adverb e TR
C. Adjective
D. Pronoun

In the sentence ‘A'man is.the facade
of a temple wherein all wisdom and .
all good abide’. What is the ftmctlon_

of the word wherein in the context

'A. conjunction
B. adverb
C.- adjective 1 |
D. verb _ . }
“The droll disguises only mzignifyi@
and enhancing a real element, and ?

forcing it on our distinct notice. The
word in italics notice is used as-

A. Noun

B. Verb

C. Adjective

D. Adverbial phrase

SPACE FOR ROUGH WORK / T T4 o fora wwre
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_ 68 What does the word reveries’ most

likely mean in the context of'the
-passage'? : -

| A . Regrets

69.

' B. Daydreams

c. Conversations

'D. Surprises

Which word is a synonym for ‘droll’ "
as used in the passage A? :

A. Amusing
B. Mysterious
C. Serious

- D. Intense

Read ~the following ' Passage
answer from the options given.

Passage - ‘B’

_ None the less, at some time, I fear,

everybody is a bore, because
everybody now and again has a fixed
idea to impart, and the fixed ideas of

~ the few are the boredom of the many.

 Also, even the least self-centred of

men can now and then have a personal
experience sufficiently odd to lose its
true proportions and force him to
inflict it over much on others. But

bores as a rule are bores always, for .

egotism is beyond question the bore’s
foundation stone; his belief being that
what interests him and involves
himself as a central figure must
interest you. Since he lives all the

~ time, and all the time. something 1s

.happenmg in which he is the central

: ‘B’
carefully & choose the appropriate

figure, he fing’ always something niew i

to discourse upon: himself, his house,

~ his garden, himself, his wife, his
~ children, himself, his car, his
handicap, himself, his health, his -

70.

_income-tax people.

ancestry, himself, the strange way in
which, without'inviting them to, all
kinds of people confide in him and ask
his advice, his humorous way with
waiters, his immunity from influenza,
his travels, the instinct which always
leads him to the best restaurants, his
clothes, his dentist, his freedom from
shibboleths, he being one of those
men who look upon the open air as the
best church, his possible ignorance of

the arts but certitude as to what he

himself likes, his -triumphs over the
These are- the
happy men, these world’s axle trees.

According to thé passage B, what is

the belief of a bore regarding what

interests them?

A. They believe that only intellectual
topics interest others.

B. They believe that what interests
them must also interest others.

C. They believe that their interests

are unique and should not be
shared.

D. They believe that their interests
are unimportant.
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+ What effect does'the author achieve'
s by listing varioys toplcs that bores
‘might discuss in the passage B?

A. Providing examples of engaglﬂg

. Conversation topics

B. Highlighting the diversity of

. interests among individuals

C. Tllustrating the self-centered nature
of bores

D. Demonstrating the author’s
admiration for bores

72. What does the phrase ‘world’s axle-

trees’ imply in the context of the.
passage B? :

A. A metaphor for the boring
individuals described

B. A reference to a specific locatxon
where bores gather '

'C. A symbol of humility and self-
awareness. = -

D. A descnptlon of a physical object
found in gardens

73. “all kinds of people confide in him and
 ask his advice’ The word in italics
confide is used as-

A. Noun

B. Adverb
C. Verb
- D. Adjective

4. Which word is 2 synonym for -
‘egotism’ as used in the pasSage B?--
Modesty
Generosity
Narcissism

Humility

Pl £ - ‘i-’:‘:'thi..'_" e,

.U.o.w;»

75. What is the meaning of ‘inflict’ in t}
sentence ‘force him to inflict 1t over
much on others"? _
/\. To enjoy

~ B. To endure
.C. To avoid
D. To impose

76. One reason why second language .
learners make errors, i.e. the influenc
from the learner’s first language
(mother tongue/L1) on the second
language (L2). This is called-

A. code switching
B. code mixing
C. interference R

- D. interlanguage
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'_ 77 ThB pnmary functmn of language
. gccording to the socio-cultural .
/ __"'_'perspectlve- ' ; »
A Expressmg emotlons
. Transmitting information

.. Establishing social relationships

D. Solving problems

78. Ina 'language class, a teécher provides
additional support and instruction to
students who are struggling to grasp

certain language concepts.
What type of teaching is this?

A. Enrichment teaching

B'. Remedial teaching

C. Differentiated teaching
- D. Inclusive teaching

79. An English language learner often -
says ‘I goed.’ instead of ‘I went.” This

phenomenon is known as-

- A. Developmental error
B. Overgeneralisation
C. Fossilization :

. 80. Which among the following is nota =

claim of Vygotsky on cognitivism
theory based on the developmental
analysis, the role of language and -
social relation?

A. A child’s cognitive skills can be
understood only when they are
“developmentally analysed and
interpreted

B. Cognitive skills are mediated by,
words, language and forms of
discourse which serve as
psychological tools for facilitating
and transforming mental activity

C. Knowledge is situated and

collaborative

D. To memorize and recite
information

. Ms. Astha,’a laziguége teacher

conducts one-on-one interviews with

~ students to assess their ability to.

express ideas clearly and coherently

Which language skill is being
evaluated in this assessment?

A. Listening

D. Slip  B. Speaking
“ C. Reading
D. Writing

e i K PRSI
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7. The primary function of language

78'

79.

accordmg to the socio-cultural

' perspectlve- |

A. Expressing emotions
B. Transmitting information
C. Establishing social relationships '

D. Solving problems

In a language class, a teacher provides

additional support and instruction to
students who are struggling to grasp
certain language concepts.

What type of teaching is this?

A. Enrichment teaching
B. Remedial teaching -
C. Differentiated teaching
D. Inclusive teaching

‘An English language learner often

says ‘I goed.” instead of ‘I went.” This
phenomenon is known as-

A. Developmental error
B. Overgeneralisation
C. Fossilization

D. Slip

. Which among the following is not a

claim of Vygotsky on cognitivism
theory based on the developmental
analysis, the role of language and
social relation?

A. A child’s cognitive skills can be
understood only when they are
-developmentally analysed and
interpreted

B. Cognitive skills are mediated by,
words, language and forms of
‘discourse which serve as
psychological tools for facilitating
and transforming mental activity

C. Knowledge is situated and

collaborative :

D. To memorize and remte
'mformatmn -

- Ms. Astha, a language teacher

conducts one-on-one interviews with
students to assess their ability to.
express ideas clearly and coherently.
Which language skill is being
evaluated in this assessment?

A. Listening

~ B. Speaking

C. Reading
D. Writing

AL
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32 ‘Which prmCIple ei'hphas:zes the i

“importance of meaningful
communication and authentic
language use in language teaching?

A. Grammar-Translation Method

B. Communicative Language
Teaching

C. Audio-Lingual Method

83.

9aowy

D. Direct Method

Which of the following are the
features of the grammar-translation

" method.

() Grammar is taught prescriptively
— through the presentation and
study of rules.

“ (H) Practice is prov1ded through

translation exercises from the
mother tongue to the target
language and, vice versa.
(III) A distinctive feature of this
method is its focus on translating

the sentence.

- (IV) English synonyms or

equivalents are used to explam
new items.

. Only ) and 1)
Only (I), (II) and (1)
Only (I) and (IV)
All (), (II), (I1I) and (V)

' min invo
(I) Learning - acqmsmon occurs

(II) Learning 0cC

'.U.O.w'.:b

study, whil

naturally. s through expllClt

hile acquisition d

instruction, W
n ’ gh e pOSure aIl

happens throu

uses.

(III) Learning refers to. the acqllllsltloll_l

of a second language, whi ef e
acqulsltlon is the process O

* mastering one’s first language

" (IV) Learning focuses o1l written

language skills, while acqulsltmn
' - primarily emphasizes oral

language skills.
In the light of the above statements, .

~ which option is correct?

Only (I) and (II)

Only (I) and (11I)

Only (I) and (IV)

All (), (II), (IIT) and (IV):s
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§5. While writing various subskills are
employed. Arrange them in proper

order:
(1) .working out what you want to

say, 1.e. getting or developing
ideas.

(Il) drafting/writing the first draft
(the first version (or form) of a
piece of writing, that may well
be changed) -

(III) editing (correcting and
improving the content of the
text) |

(IV) working out the order in which
you want to say it, i.e. planning /

~ organising ideas.

(V) re-drafting (writing a
second/final version of your
piece of writing).

(VI) proofreading (checking mlstakes
for accuracy and correcting)

A. (D), @V), (), (11D, (VD), (V)

B. (D), D), dmm), @V), (V), (VD)

C. (D, (I, (D), (IV), (VD), (V)

D. (D, @V), (VD), (V), (1), (1)
86. Which language skill involves

decoding written language?

A. Speaking  B. Writing

_C. Reading D. Listening

87. This sub-skill of reading involves

glancing through a text to get a
general idea of what it is about. This

sub-skill is- _
A. intensive reading B. inferring
C. skimming D. scanning

88. Look at the following conversation

between a teacher and the students-
Teacher : Why is India called the land
of festivals?

Pupil : India is called the land of
festivals because many festivals are
celebrated here.

Teacher : Give the names of different
festivals celebrated in India.

Pupil : Holi, Lohri, Diwali, etc.
Teacher : Who is she? (by showing
them a picture of goddess Lakshmi)
Pupil : She is goddess Lakshmi.

- Teacher : When do you light the

candles and worship the goddess
Lakshmi?

Pupil : On Diwali Festival.

Teacher : Compose, a paragraph on
“The Diwali Festival’.

Pupil : No Response from the class.

At the last question the students do not
speak anything. They remain silent.
Then the teacher asks them, “Please
speak a few sentences on The Diwali
Festival”. One or two students try to
speak one or two sentences but they
are not able to continue the topic.
Then the teacher says, “Well students!
Today we shall learn to write a '
paragraph on The Diwali Festival.”
What is this skill called?

A. Skill of introducing a topic /
lesson

B. Skill of concluding a topic / lesson
C. Skill of questioning
D. A general filler

20462.YKIWZ-ZKZ-PR-ELE-M1
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- 89, Mr. Dhanesh, a laﬁguage teacher

incorporates videos, audio recordings .

"+ and online interactive activities into

his lesson plans to enhance students’
engagement and understanding:
Which teaching-learning material is
being utilized in this scenario?

Textbook |
Multi-media materials
Multilingual resources
Realia '

caowe

i1

90. Teachers 'éometimés work with 1o

" writing. They can also help learners |
. get ideas about what to write. This

models (clear examples) of text types |
when teaching writing. Models can i
show learners what patterns of ’
language, vocabulary, register or j
f
i

|
i

B

layout to use, or how to structure their,

model of teaching writing is called-

A. Process writing
B. Guided Writing

 C. Free writing

'D. Pre writing
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PART -1V

Mathematics L T
91. What is the expectation from the 91. <ifdhTHISH & TR @I TRV FAT
learner under the ‘banking model’? 279817 Breft 27
A Work cooperatively with A, Gt 3 e T dE
. classmates. : : = j
B. Solve multiple questions of the | e
same type using the taught B. o fafr 4w & @ &% IF
method. . : T T Tl
C. Make maximum use of ability to (C e T Ay Bﬂﬂ?lT‘ﬁw'T IRrras ITART
remember. : ; T

D. Try to find own way to learn.
D. %ﬂ@ﬁ%ﬁmmmmaﬁw

_ e En! |
92. “The sum of two odd numbersis” ~ 92. ‘a‘rﬁwa@mﬁwaﬁnaﬁm@m
always an even number.” . y gETEarel”
How can we check whether this- med%«cﬂmﬁﬂﬂﬁﬁﬁW%’q __
stgtement is true or false? : Bl
A. by empirical method
'B. by experiment . A a@:rﬁ'a;i%rﬁ:i:‘r
C. by observation Bt —B. mm |
D. by deductive logic ] C. STFEHT g
' g & D. it @ g
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93. The charactenstlcs of a constructwlst

_ classroom is-

- A. The child is good receiver of
: teaching.

. B. He listens to the teacher’s wordS |

patiently.

eV % C. Heds free 'to ask questions and
' present his arguments

~ D. He is given ample opportunities to
* practice the methods taught.

'94. Which of the statements given below

1s/are correct?

(@) ‘Procedural knowledge is related .

to knowing the process of
solving a question.
~ (b) To learn mathematics it is
~ enough to have procedural -
knowledge.
(c) Defining a concept is conceptual
-~ knowledge.
(d) . The development of one of the
 conceptual and procedural
knowledge is helpful in the
development of the other.

A. (a) and (d) only
B. (b) and (c) only
C. (a) and (b) only
D. (a), (b) and (d) only

| 93 @@@mﬁm% : 5

A. ST RTEOT T Wuzwaﬁfs‘fm%lf‘
B, e firaen o1 T 1 e e
fo aesraraﬁaﬂwﬁa%t@ﬁ%%q{
R |
D. wmﬁﬁﬁfﬁﬁr%m%m
mmﬁqmﬁ%l :

04, 413 Rt 4 T A T

(a) WWWW%W
| F1 e F I AT R ST A 7
(b) nﬁmﬁ@ﬁ%mmmm
) dmdwwd |
(© %a"ra:amﬁqﬂmﬁamﬁ
SFETOTTEH M 8 |
» (d) Waﬁwﬁw—qaamﬁz
ﬁﬁd’f@mm@%ﬁmﬁﬁ
3 C o | I
A aﬁﬁ(a)a‘ﬁT(d)_.
B. aﬁa(b)_aﬂt-(c)
C. %A (a) AR (b)

__D. 9 (a), (b) éﬂr(d)
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95 The method of amvmg at conclusmns
.+ based on repeated similar experiences

s
4 deductive logic '
b inducti\?e logic
empirical logic
constructive logic

Cow 7.5»‘

- 96.

 theoretically?

A. picture — solid — picture
symbol — number symbol'

B. number symbol —> solid —
picture — picture symbol

= c. solid —» picture symbol — -

picture — number symbol -

"'D. solid = picture —> picture
symbol — number symbol

97.

problem is called-

(@) proof . (b) algorithm
~ (¢) hierarchy (d) axiom

A. (a)only '

B. (b) only

i C. (b) and (c) only
- D. (a)and (d) only

In What order should one proceed'
“while teaching the concept of adchtlon

A series of Steps applied in a particular
" sequence to solve a mathematical

ﬁa?f ga%w-wa#m@ra@ﬁ%

mwmmﬁaﬁ%aﬂ%aﬁaﬁaﬁ- =

S
A. frmfas ok
B. AR T
\%c.' AR oeh
e‘yﬁ TEATATET ek

96. g raumwen frard gwa frezida:
 for 5hY H ST ST STHT ATfeT?
A ﬁiaaﬁv—)ﬁlﬁmamm
B. - G Sl — 31 — i — o vl
-,C/Eﬁ'ﬂ%ﬁﬁﬂ?ﬁ?—)ﬁ:ﬁ—)ﬁ@ﬂ?ﬁ%
D. aﬁ—#ﬁieﬁﬂmﬁﬁwm

97, Freft e e B FO F Riw T
ﬁa‘r&rmﬁmaﬁraﬁmﬁwﬁaﬁr

(a) Squfer (b) it
(c) TUFHA  (d) aw&rqa‘\?r

~ B. ¥a@(b) _
—C. #ad (b) 3 ()
 D. ¥ (2)3 (d)

20462-yKTWZ-ZKZ-PR-ELE-M1
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L,

98

@
®

©

99.

HOW 1s assessment’ v1ewed in the
context of a constructivist classroom?
It-guides the learning process.

It shows what the child has done
wrong.

It only checks the leammg
‘outcomes.

It is an essential part of the

- learning process.

A. (a)and (d) only -
B. (b) and (d) only
C. (a) and (c) only
D. (b), (c) and (d) only

(d)

If a, b, c and d represent
specialisation, generalisation,

- conjecture and prove or disprove

respectively, then choose what mental
process do we go through while
thinking mathematically?

98.

+(b)

mﬁmﬁ?@fﬁ AR’ ﬁ%&_

@ T 87

~(a) quﬂ@ﬁﬁuf’m"maﬁwfaahémé
ﬁaﬂm%%aﬁﬁw—wm_
2 |
ﬁmm@%%yﬁw#m i
wATR
m@ﬁﬁuﬁmwaﬁm&fé@rﬁ

)

«’(d)

i

B. e (b) 3 (d)
. Fad (a) A (c)
D. ¥a@ (b), (c) A (d) -

afea, b, ¢ T d s fafmeier,

ST, AT 3
firez/aTRee AT T NeRkia L &,

- gftg e it s & Hre & 9

iy
o
{

%Hmﬁmuﬁmﬁnar%%‘?

b
1

[@

.

o

. T

-

2

(¢ =
[T

oL, o
H.—J
}
o

[
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~ 100. “The sum of the four angles of a’
square is 360°,” by analysing this
- statement, we think about the
% statement that “the sum of the four
angles of a quadrllateral 1s 360°”, Th1s
is an example of- =

A concretlzatlon
abstraction
generalization
particularisation

O 0w

101. In what models learning i is divided -
into specific substages that are
achieved through repeated practice?

A. Banking and constructivist

B. Constructivist and programming :

C.- Programming and banking

D. This is a common feature of all
three models.

102. If a represents abstract concepts,
b represents broad ideas,
¢ represents concrete situations and

s represents specific situations
then show how mathematical ideas
often increase?

'A. atobandstoc
B. ctoaandstob
G atocandbtos
D. btoaandctos

100. vﬁ:@ﬁaﬁ%aﬁﬁvﬁma\mwﬁm
% E I R e T
ﬁsﬁaaﬁﬁsarﬁ@wﬁmaﬁn%o‘*
BT e”, %aﬁﬁ@aﬁ%ﬁaﬁﬁm

&
AIEﬁﬂ?(UT'ébT

B, SoEEOTE R
2. SATIhIHTT T 7
D. faferereror

: 101 ﬁﬂ#@?ﬁﬁ@ﬂ@%ﬁ@ﬁﬁmmﬁ

ST SITaT &, 8 TSI o oTv e g1
iyt oA srar 82
A, SffeRT IR EEETd
B. TG R ST
C. s ofiw sifekT :
P/ agaﬁrnﬁ?ﬁmmwﬁgw%l
102. I a ST STEROTA =, ‘
bmﬁaﬁrﬁ
¢ et aftferfora shr 31 ‘

2% b B SR s F e AT
o o alis ¥ bR
2T ¢ T AT TH A 5 F 3
b a 1 31 37 ¢ & 5 1 BT

N

O 0 ™ p @
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1'03 Match theges -
List-1 =~
s (a) Bankmg Model
(b) Constructivist Model
(© Progrannnmg Model
"(d)  Axiom
List-I1
(@ being actively involyed in the
learning process.

(II) a statement that is generally
accepted to be true without
proof,

(IIT) repeat what has been read
correctly.

(IV) following a series of instructions

- a-II, b-III, c-I, d-IV
a-III, b-I, c-IV, d-II
a-ITI, b-II, c-1V, d-I
. a-IV, b, c-11, d-1

90wy

- 104. Solﬁng mathematical problems

. Increases the following ab111tles ofa

. person-
. (a) ability to thmk clearly.

(b) ability to explore relationship and

patterns.

| (c) ability to retain facts in memory :

(d) ability to think logically and -
- systematically.

A. (a), (b) and (c)

B. (b),(c)and (d)

C. (c), (d) and (a)

D. (d), (a) and (b)

103. g&m#ﬁq :

(a) dRFTHRET
(b) TEETE! HES
(c) smnfimdies
(@ TfrrEa
-1
1)) %ﬂ@%ﬁmﬁmwﬁmﬁa
e
(II) T o o ﬁmm%m
© AMTSETRl :
(II) %"rﬂ%aﬁﬁaﬁaﬁmm
av) P A o jeermaew
A. a-ILb-IIL c-L d-IV

B allL bl c-IV, d-II :
C. a-IIL b-IL, c-IV, d-I |
D. aIV,bIl c-IL d-I ~ "E

10 nﬁﬁuu&’r@r%mmﬁﬁ%&?aﬁﬁaﬁr

- Frefafas guad sedt -
(2) QAT o & grem S

A6) U s wH B e R

(c). Maﬁqﬁﬁmaﬁ-ﬁw
- d) arﬁaaaﬂtm%zaﬂ%ﬁaﬁaﬁaﬁ
&) '

A. (a), (b) IR (c)
~ B. (b), ()3 ()
C. (©, @@
_D. (@), (@) ®)
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105  yerage of four fractions-"?’%s?'g‘,‘*% 105 a3l 22 43 qurslmrotew

| 4 8 4
il 3
e e : SRRy ¢ 4_2_
o By -4_2_ S s g7 32 /
B2 | i Gy
B. 5.§ ' | ¥ o avs : bol 9
R _ R
'n,.‘ C. lli ' . , tonel'
Ao 9 , . D. 4-1_1_
D. 4__1_1_ g A . .32
06. In hox_a; much time simple interest of =~ . 106. ﬁﬁﬁmﬁ? 600 T TN 34T 6% -
7600 at the rate of 6% annually will be ife T A T 360 B SR | g
33607 | T i Al TEis '
. L D e s
A. 6 years _ : et /@ W
. C. '5 years - SR . 598 e a8 i
DTl T AR, T o
.77 6= years il " 6—a¥
g it e S 2 :

07. A person on selling two scooty each at 107. @Wﬁﬁﬁﬁ@ﬁaﬁﬁ-mﬁ? 98,000
- ¥ 98,000 ata profit of 15% on one andt’ T YR TR T 15% WWW@W{

at a loss of 15% on second. What = IS%ﬁ%’TﬁG?Ii?ﬁfﬂ'@Hi?ﬁGﬁW
_ percentage of profit or loss he has | o s AT AT §§‘7 AT
‘made on total transaction?_ . s : il
. A, 225%Loss | A 225% T
- B. 2.25% Profit B. 2.25%@’(
C. 225% Loss € 225% BT
{ D 225 brot R D. 225% @
T SPACE FOR RoyGH WORK / T w14 o feTd e (o
e T 1. - i g AR
| /8-\% e) N(ﬂﬁ PT/,L_@E_, igﬁ; : C (00 - W
S OGP & g Pl
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108. Match the following-
Column -
(I)  On travelling a km. in b hours,
speed= - :
(IT) b meter/second =
() On walking same distance with
speed of a km/hour and b
. km/hour, average speed =
; (IV) With speed of a km/hour
distance travelled in b hour =
. Column - II
@ = km./hour
. a+b
- (b) abkm.
(©)

bxls—gk_m./hour"

C) %Iﬂn./hour-

Select correct answer from the options

given below-
- A. I-a, II-c, III-d, IV-b
B. I-b, II-d, Ill-a, IV-c
- C. I-c, II-b, III-a, IV-d.
D. I-d, II-c, IlI-a, IV-b

109 1wy = %3 43 4 3xy(x +), then
O*1)*2=7
A 0
B. 1
C. .27

D, .32

@M b
. G =

@ bieT/dFE =

) & g a fefHl./EOT AT b

" el /erve oy =TT & e T 3t

Pl g EAw |

(a1v) bemer i a . /eoer B A T

- Hrwfigl=
w11

2D, faef erver

a+b '

* ab for . '
18 L ;
bX—S— mm . |

L&)
(b)
(©)

@2 - Tl et |

ﬂ%ﬁ&nﬁﬁw&r@mﬁwmwﬁ

. A LaTlc, T4, IV-b | ]
- B. Ib, II-d, IIl-a, [V-c | |
' C. I, I1b, I, IV-d
" D. Id, Ilc, ll-a, IVb

lﬂg'ﬂﬁ’X*y=x3+y3+3xy(x+y),ﬁ?i’_
(0*D)*2=2 E

A. 0 e =

4+ B. 1 '
#e 27

D. 32

SPACE FOR ROUGH WORK / 7% &4 % v wrg
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| 110 Relatlonshlp between HCF and LCM
\ 4 ;_ oftwo numbers aand b is-

L7 -B

112,

A HCP (a by o
! -~ LCM(a,b)

X HCF (a,b) x LCM (a,b) = -z-

¢ 'HCF(a,b)xLCM(a,b) =axb

111.

'D. axHCF(a,b) =bxLCM(a,b)

0.72=2%

A 72%

B. 28%
C. 0.0072%

- D. 72%

One hectoliter =

(a) 10,000 centiliter -

(b) 100 cubic decimeter

(c) 1000 cubic centimeter

(d) 10® cubic millimeter
Select the correct answer from the -

following options.
A. (a) and (b) only

" B. (c) only

C. (a), (b) and (d) only
D. (d) only

gm
539)\

hw"‘t)

aq@m‘rawb%HCFamLCM%i
b NG R

A HCF( )' e
g LCM(a b)
B.

HCF (a,b) x LCM (a,b) = 3 '

b2 o HCF(éb)xLCM(ab) axb -
D. axHCF(ab) beCM(ab)

11/0.72=2%

A 7.2%
B. 28%
- C0.0072%
D.i72%: %
w%aa?ﬂa |
-(a) 1ooooae‘lr—ﬂzt
(b) 100 v T
(¢ 1000TH @R
(@ 108 o Rt
foret et & gt S gFT-
A %m'ﬂﬁ(a)?ﬁm (b)
B, e (o) i
_~C. %ad (a), (b)TAT(d) '
- D. Faa(d) :

SPACE FOR ROUGH WORK / T &4 & for& wrg
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113. Arrange the f'ollowmg steps t0. ﬁn

- (M) and seconds (S) from Time ,
~ Calculator-
(a) Enter Add+ of calculator
(b) Again enter other values of
M and S in the calculator. .
(c) Enter calculate functlon of
calculator

(d) Enter D, H; Mand S in the

calculator..

Select the correct answer from the -

options given below-
A. @—(@©)->0b)>@
B. (©)=>@—->®)—>(@)
C. (d—=(@)—>b)—>()
D. 0)—=>(d)—>@—() -

'114. Match th‘e-followihg- pey

Column-I - Column - II
B.
C

@O 1:2:3 (a) 4:1:
() 2:1: 2 . (b). 2 :
(D 3:241'% (c) 3 4
(V) 1:1:2

{6 A B Cio then b
- B

5

4

Select correct answer from the options

given below- -

A. I-c, II-a, ITI-d, IV-b

B. I-a, II-b, ITlI-c, IV-d

C. I-b, II-c, IlI-a, IV-d
- D. I-d, II-a, II-c, IV-b-

"', sum of days (D), hours (H), mmutes

' ﬂﬁq‘r (D) Emif
3 C 1culat0r (H)_,.
- I'Ié ( Wﬁaﬁaﬁﬁ%ﬁﬁm q

& forg

D, H, ¢
% g:aﬁztﬁyrﬁﬁa&l_

_ aWa:AderaﬁuﬁEﬁ
@ MUTESFHAA A

34'5#&-.-‘.'3-3&

6% 1
(d) D, H, M@Sﬁwﬁgﬁ!

- w
: ﬁaﬁan&ﬁmﬁﬁaﬁrwmm

:W' .I
R (@)= (©—>®) (@
B. (—=>@—>®—>
(@@= B>
| 'D (b)—}(d)—*(a)‘*(c)

5 .';L'.-,'q;..‘_'f:'._'.'_‘m .-\

&
A

A
B
(M- 1:2:3 (a) 4:
@ 2112w (b) 2

<

(RS 2 : 1 (c)

av) 1:1:2 d 9:12:2 |
et o 3 oot @ W AT I

hifse-

A. I, II-a, III-d, IV-b
- B. I-a, IIb I-c, IV-d

C. I-b, O-c, III-a, IV-d

D. I-d, II-a, II-¢c, IV-b

~ SPACE FOR ROUGH WORK / T% #Td % ford wirg
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115 Assertlon (A) P completes a work in'
10 days while Q completed the same
5t -_-work in S days and both were given

same wages.

-, R (R) : Q has been allotted easy

work.
- Select the corroct answer from the'

_ options given below-

~ A. Both Assertion (A) and Reason
- (R) are true and Reason (R) is the
correct reason for Assertion (A).

B. Both Assertion (A) and Reason
-' (R) are true but Reason (R) is not
the correct reason for Assertion
(A). Tes
C. Assertion (A) is true but Reason
(R) is false.

D. Assertion (A) is false but Reason g

: (R) is true.

\] .
a7
s Y g

\..»
\'J

)
—w

_ __'115 E'ﬂ“ﬁﬁ*l:f(:‘\) Pﬁi@ﬁ'ﬁﬁmiﬁrloﬁ'—rﬁ‘

QAT mﬁqmmﬁsﬁqﬁ

| @m%waﬁﬂ‘taﬁmmﬂﬁm

ST 21
W (R) : Qﬁanmwﬁmw%i
A 13 T et & et s g

A e (A) 7o 0T (R) ST &

%amm(R),axfiﬁm(A)amﬁr
FROTR
aqﬁmq(A)WW(R)aﬁm
%m——g'wm),aﬁmm)maﬁ
T T 2

- C. R (A) W%‘I"ij ®)

AT B

| ‘D. aﬁﬁm(mm%mm@ ,

W%I

SPACE FOR ROUGH WORK / T & & fordt sre
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-:,1_.- . 116 An'ﬂllge the followmg steps to ﬁﬂd
. -areaofarhombus of sidea and one
15 diagonal 2d,

_ (?l) Find value of second dlagonal
~ 2d, by the formula

.dg \fa "'dl =t

| (b) Area= —-x(2d1x2d2)
. ©) Put values of d; and d2
I . (d) Calculate —-><(2d1 X2d2)
Select correct answer from the optlonS
gwen below-
S ‘_A (c)—+(d)-—>(b)—+(a)
B. (©—>(b)—>@)—>)
C. ®=>©@©->W@->@
D @->®->©@-@

117. Arrange the following steps to find

‘volume of a cuboid.
"' - . (&) Volume of the cuboid
BT V=4Lxbxh -
(b) Find £xbxh
. (¢) Find length (£), breadth (b) and
height (h) of the cuboid
~(d) Put values of £,b,h
Select the correct answer from the
“options given below-
A. (€)—=>(d)—>(b)—(a)
- B. (b)—=>(@)—>(d)—>(c)
- C. @->(b)>(0)~>() _
D. ()@ —>(d)—>@

v 116 w@ﬁ*"f 2‘11
| ?%mﬁﬁmﬁna@ﬁﬁ

7§ sqafted ARG
(a) T fl 24, FAGT

Mﬁﬂ'ﬂ—- —><(2d1><2d2) S

d; _m ﬁmﬁ'

(c) d1 T d, ‘éFfII'FTt@I

(d) ——><(2d1 x2d2) d’ﬁ'Wﬁ]

_B.
C. (b)=>(c)>(d) ()

117.

ﬁﬁ%ﬁﬁmﬁﬁaﬁrwmw
Hifv i
A (© —>(d)—>(b)—>(a) :
@9@%@9@

D. (a—>®)—>()—>(d) -

TS O T Wmﬁaﬂﬁ%ﬁmﬁn
WO FEReA Hifve-

.(a) T HR A" V = -be‘xh

(b) 4xbxh @ _

(c) T I TS (£ ), SN (b) T
TS (h) T4 |

(d) £bhFAETE A

ﬁﬁ&nﬁﬁmwﬁamaﬁq

AT (@ (D)—>(b)>(2)

B. (b)—=(a)—=(d)—(c)

C. @—=>b)>(©)>(d) |

~ D. ®=>@©)=>()>@).

SPACE FOR ROUGH WORK / 1% &t & ford wrre
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118. ,/0.0001000 = ?
‘(@ 0.001
(b) 0.01
(c) 0.010
(d) 0.0100
Select the correct answer from the
following options-

" A. Only (a)
B. Only (a), (b) and (c)
C. Only (b), (c) and (d)
D. Only (c)

119. .
- If we take fractions 0.75,-2—,%,1.57 :

in descending order, then what will be
the third fraction from the begummg?
A 3
5
B. 0.75
ey

25
B.:1.537

19. . M
fir=t 0. 75
aw 5 ’25’

AT

J0000100 =7 o
“ (a) 0.001 fiy ot
(b) 0.01

(c) 0.010

(d) 0.0100

et forsheat & wet S gfe-

A. av'clﬁ_(a) £

B. %4 (a), (b) 9T (c)

. C. e (b), (c) T (d)
" D. ad(c)

157a$ra:sav?raﬁ

mﬁéa‘rgﬂeﬂaﬂﬁ:aﬁqm@nﬁv

B. 0.75
S @Q_ >

S 157 o

SPACE FOR ROUGH WORK / T & & ford srrg
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:_-;-;[.:

(a) 70000

'(b) 69993

(c) 6993

. (d) 7675

Select the correct answer from the
Tfollowing options.

A. (c) only
B. (a) and (c) only

-C. (b) and (d) only

D. (a)only

120 In the number 537682 the dlfference o -120 1:{@[[ 537632 ﬁ 7 %W‘Tﬁm
of place value and load value of 7 is- . e

T 7 A -
'~ (a) 70000
(b) 69993

\e) 6993
(d) 7675

ﬁwﬁﬁﬁﬁaﬁwgﬁﬂ
CATEER ()
B. W @)
C. e (b) 7T (d)
D, ¥ o

: ¢204’62—YKIWZ—ZKZ—PR—ELE—MI
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"~ PART-V-

' Environm__ental Studies i t:'q‘i'aTUT 31‘-‘7“'“7"
121. Jot down the steps ‘involved in 121, ma&r@fﬁﬁmﬁa 'atuﬁ aﬁﬁf@‘
cultivating onions. Lt @ @) ST ' _ |
~ (a) Tilling the ground Lol e R cRetEe
(b) Removing the dried leaves from U W%M @ T
. the onion’s top | () forrg =TT :
(c) Weeding . - ' (@ dwE
(d) Planting the seeds . (o) A
(e) Cutting the onion o
| ; (@), (d)
A ()0, €, @@ A ®OO
; -._/ B. (a)a (d)9 (C), (e)’ (b)

B. (a), (d), () (e), (V)
C. (b),-.(a),'-(c), (B), (d)
D. (b), (c), (a), (d). (e)

C )@, © (@
D@@@@@

122. Which is the correct sequence of food 122, @I%I a{@?ﬂ Wﬂﬁﬁﬁqﬁm%?
in?
et A Gﬁemﬂ——)%ﬁ—-)!?ﬂ' _

A. Sun—-,)Grass—%Deef—)Lion' \ :
: B. g WM>=E
: Sun—)Deer-—>Llon——>Grass _ . . J
c. g A>T

B
C. Sun-—>Deer—->Grass-——>Lion : .
D. Sun—»Lion—> Grass—>Deer D. o oTg>FT

123. FRSHHA & FMP- _

| . 123. The star shines due to-
_A TSI TSRO

" A. Scattering of Light

B. Iptemal Reflection ' '. ; 5 et :
 C. Atmospheric Refraction 5 S m
are : . SEHeeR T
D. Atmospheric Reflection . _ .
i S, aﬂﬂﬁﬂﬂqtlaﬂ:r :
SPACE FOR ROUGH WORK/ T HE & oA wmE

¥

5 204 62-YKIWZ-ZKZ‘PR'ELE'_M1 39 I“ “I “l‘ “ “I IlI ||l| '“ : 4 ?'7 “Set ‘B

2

B et 3 ' AN



i e
i

i) 1-2..-4 Environmental Educations
. Fundamental Goal is to-
L% .7 (a) Adapt to alterations in the
~surroundings
-'""_-'(b) Assist in addreséing the
environmental risks
..(c) . Encourage people to think
critically about new topics
(d) Raise public understanding and
awareness of env1ronmenta1 E
issues.

(e) Strengthen your ab111ty to solve |
' problems and make decisions
when it comes to dealing with
environmental issues.
Choose the correct answer-

A @GOy
. B. (0),(d), (e) only
~ C. (), (0) (@) only

D. (d), (e), _(a) only

125. What causes the cycle of Day and
~ Night on earth?

A. Both Rotation and Revolution of
" the Earth

B. Rot_ation of fhe Earth |
Revolution of the Earth
- D. None of the above

0

A. a9 (a), (), (©)
_B. ¥ (0), (d), (©)
C. %ad (b), (¢) (d)
- D. F=(d), (¢), (a)

125. et o Rt St T T B AT
A. TR e SR et A
.B. pETR
. g R
D, FHATET

‘SPACE FOR ROUGH WORK / 1% %14 @ for& wirg. |

o TN
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126. Directions - For the below Assertion

(A) and Reason (R) choose the correct
alternative,

Assertion (A) : Environment

Education is a process of research and

action on actual environmental
problems, -
Reason (R) : Children are taught about
a variety of topics, including equality,
the environment and many others but

. they do not acquire the knowledge or
 attitudes necessary to tackle these
problems.

Select the correct answer from the
options given below-

A. Both Assertion (A) and Reason
"~ (R) are true.

B. Both Assertion (A) and Reason
~ (R) are false.

C. Assertion (A) is true but Reason
(R) is false.
D. Reason (R) is true, Assertion (A)
"~ is false. | :

126. feanfider - ﬂ%ﬁqmm(maﬂtm'
'(R)wu‘é’rﬁmaﬁ

o (A) : FaiaTor Rre At
qaiawﬂzrmaﬁtmﬁaaﬂtf_@ﬁﬁ
e wisRaT 2 - -
T (R) : STl 0 AT, e e

o o forwt 3 it B g ST €, SR
I g wEeet @ e o forg AT

1 T gRRehIT BT T8 el

- Ro e et § & GE ST -
}/m(A)aﬂtW(R)aﬁrW%l
B. -W(A)aﬁtW(R)ﬁW%'

C. M (A) T & SHFR (R) I
& TR

D. RO (R) T & 3T FU (A) A

il

SPACE FOR ROUGH WORK / T% & & ford wrire
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.1-27' Match the followiné— 7 AL R 12.7;%3%%-
ey Column-1 T b i | gl
(a) Pre-operational stage i (@ W AR =TT
?3 (S:ensorltmotor stage 1 o ®) SrafrTed 9T
oncrete operational stage ' ; frTe
(d) Formal operational stage g (©) G o kb
Column-T ey, i afTer ST
(I) Manipulation of ob_]ects n the , ﬁ-_g _
| environment ) aiawer | aEg A %ﬁ’_{ -
(II) Child begins to think 1oglcally S 0e @ ) ;ﬁaq-f
~(IIT) Child begins to acquire -(ID ﬁaﬁﬁw . fag
vocabulary e g S el I
(IV) Child learns to add, subtract,

(IIT) ‘ol SreaTarelt &G JE F 3y

. multiply and dmde W) 5 : o _ s
i A a-III b-II, ¢ —I d-IV SR : %l
B. a-II; b-I, -1V, d-II - | b-IL oL, d-IV
C. 'a-IV,_ b-I,_C-II, d-Imn - a2 S A. a-IIl, b-1II, c-1, =
D. a-I, b-IV, c-II, d-III - : - B. a-IIl, b-1, c-IV, d-II

C. a-IV, b, c-I1, d-1I
D. a-I; b-1V, c-II, d-IIT

" SPACE FOR ROUGH WORK / wwd & ooy o

sy III Ay - s
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128

Students‘)

Dunng online classes, how will'an

EVS teacher_ teach visually

(a) By using voice messageS

- (b) Using lots of ora] presentation

(c) By peer explanation
(d) Using concrete experiences

A. (a), (b) and (c)
B. (b), (c) and (d)

C. (®and(d)

129.

D. (a), (b), (c) and (d)

Which of the following statements
about the constructivist method of

teaching and learning in EVS is true?

(I) Most of the time students are in
groups where instruction is
 dynamic and participatory.
(II) The focus of activities is on
discussion, intellectual

engagement and conclusion making.

A. Both (I) and (II)
B. Only (I)

C. Neit;her (D) nor (II)
D. Only (II) |

challenged'

123 WW&%W@?*@ 4
. orerer g o By T
(2) ﬁﬁwﬁﬁwm i
© Wfﬁﬁmmm
(d) v T o ST FE
‘A, (@), 0)3R (c) |
'B. (b), () 3 (d)

C. (b) ¥R (d)
M- @, ®).©) AN (d)

129 %Eﬁmﬁﬁmﬂr aﬂtﬁl@%ﬁwﬁﬁ

@ﬁﬁﬁﬁﬁﬁﬂ%@aﬁﬁaﬂqmw
R aﬁmﬂwﬁmﬁa{s‘rﬁﬁ%%

aﬁﬁrmnﬁﬁﬁaaﬂtmﬁﬁam%y

'(H)nf%r%ﬁa’rmrqﬁwaaf dftas
_ wmmaﬁtﬁwq“ﬁ'ﬂaerqr%l

A aﬁr(l)aﬂt(n)
B. ¥ (D)

C. @)
D. %ad (1)

SPACE FOR ROUGH WORK / Th & & ford wre
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2 _' : ; 130:_,‘ Wh1 ch gas ok éﬁtifﬂ for ?reSE@g :

:  temperature of the atlnosphere?
o g A. Nitrogen ‘ !

~ B. Oxygen
- C. Carbon dioxide
D. Argon
131. Which order best describes the food

chain if ‘A’ stands for insects, ‘B’ for
hawks, ‘C’ for snakes and ‘D’ for -
frogs? ol T, :
A (D)= @) —>0©—0@) '
'B. (9—>@—->0b)—@)
C. (>©—>@~>0)
D. (a—(d) —>(©—>®)
132. EVS mapping ab__ilities aid in the
development-

A. The aptitude for computation and
prediction

'B. Recording abilities
- C. Comprehension of the relative
position of places
D. The ability to sketch landscapes

A B)—~>@ (c)—(d)

B. (©>@>®>@

. (@—0@>@0)
o (@—=@)~>©@©—>0)

B. R s
< C. Tl e Refy Hrams .
© D, VYT T T S hl &

A. mmaﬂrqgﬁgqm%%qﬁmm |

SPACE FOR ROUGH WORK / waﬂéﬁ;ﬁ-&ﬁﬂg

s IINANWN




i"..: - | i S LA o
11?3 The Moon, Sun and Earth’ s position 133 =iz 789r % S =5, Fﬁ*”ﬂt Shalbiien
’ during lunar echpse are- T JhR B
A. Moon - Sun — Earth

T A, -l ‘Pa“f
un — Earth — Moon _ . : :
_ B. el — =

C.- Sun — Moon — Earth L

D. Earth-—Sun—-Moon . =0 I:Ef_ bl
- 134, Identify the symbol- o : 134. ycfieh <l T&TH-

A. Dam _ . | A FE

B. Well | B g

" C. Statue e

D. School i 7

Dwﬁ(ﬁmﬁﬂ)"

SPACE FOR ROUGH WORK / W& & & ey g
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135

Dlrectlons For the below Assertlon :

:+(A) and Reason (R).

e Choose the correct alternative.

Assertion (A) : To improve learning,

- EVS teachers should make good use
- of technology and multimedia

C. Assertion (A) and Reason (R) both

© 136.

" materials. ,
Reason (R) : Students can have

interesting and dynamic learning
experiences with multimedia and

~ technology. : |
A. Assertion (A) and Reason (R) both

are false.

B. Assertion (A) is true but Reason |
R) is false

are true

D. Assertion (A) is false but Reason.
(R) is true. -

Which of the following best sums up
child centered approaches to EVS
instruction at primary school level?
(@) Survey = (b) Demonstration

(c) Discussion (d) Lecture

A. (c) and (d)
B. (a2)and (c)

' C. (a)and (d)
D. (b)and(c) -

- 135,

A. W(A)GﬁTWT(R)a:ﬁmél 4
T W(A)W%WW(R)W-%‘
A | |
/o W(A)aﬂtwm)a"m‘rm%l
D. W(A)W%ﬁ%-‘lw(mm%
2l i

136. ﬁmﬁﬁaﬂﬁﬁﬁ—rmmwﬁaﬁom
TR, m%mmm
qﬁzﬁwaﬁoa“iﬁwmﬂm%‘? e
(a) T (b) wesiT
() == (d) =T
A. (03 (d)

~ B. (a) 3 (c)
C. (2) 3 (4)
D. (b) 3k (¢)

SPACE FOR ROUGH WORK / % &4 3 fordy wre
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137.

 2462-yKTWZ-ZKZ-PR-ELE-M1

Students are gwen photos of Vanous
animals to colour the ones that they

don’t reside in their rooms. The aim ig
to inculcate —

(a) Observation -

(b) Data Gathering

(c) Creative Thinking -
(d) Categorization

A: (a), () and (c)

B. (a), (b) and (d)

C. @,(and@ = .
D. (b), (c) and (d)

- 138. The aim of assessment on enhancing

learning is- - . .
- _A. Assessment in formal situation
B. Assessment bf learning
C. Assessment for learning
D

. Assessment as learning

137. aﬁﬁﬁﬁﬁmﬁaﬂﬁwﬂ%
P ST A A T R A
o e ) 5 T B EA £

A (@, ()3 ()
B. (2), (b) 3R (@)
e (@), () I (d) |
D. (b), (c)aﬂr(d) M-ty

| '-  138 vﬁaﬁaﬁaaﬁ%warmﬂ@w 2
aﬂqmﬁaaﬁwi%rﬁmaﬂ
B. He & qedi

C. drEa % fog qeai
- D. HiEA ¥ H geihT

SPACE FOR ROUGH WORK / 7% &4 & ford smre
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139 Make correctpaus-r 139. =&l ol
s el Colums A fivg S e BT e - =
N L (a) Froebel’s - - : ‘@) WA
7 () Rousseau ' '
= . S gy el
' (¢) Raymont | el
(d) Montessori | © “.
Column - B @)
(I) School is the home of clnldhood 'éﬁ'__@_‘i_:.?l
__(I) Mothers are ideal teachers . o Ryenerd FAHT HTEE
(IIT) Naturalist Philosopher ' , p— Wﬁ
(IV) Family is the first placeof @ bl " i
; learning - ; 1Y)
- Choose the correct from the optlons | IWRLELS zﬁ@%mmw%l |
% glvenbelow- | _ | ﬁﬁ&ﬁaﬁﬁﬁ‘aﬁfwmw
A. a-l, b-II, ¢-III, d-TIV L e |
B. aIll bl cLdIV Lo
| C. a-l, beIIL, ¢V, d-I a5 8t
| D. a-IV, b-I11, c-I, d-IT' B.. a-III, b-1I, Q-I, d-1v
C. a-ll, b-111, c-IV, d-1
| _D. &IV, b-1II, c-L, d-1I
- 140. Nuclear family means- - 140. wehe 9fER & o7 B-
A. Only Husband and Wife g A, ¥ afy — gt
B. Parents and Children '
' . | | BB, rrmﬁmqaaﬁ
C. Persons who came from outside '
L after 1971 & s C. aﬁ1971%mwﬁaﬂqwﬁﬁ
D. Parents, Children, Grandparents D, R, weS, Trra, aﬁmﬁ‘t
Uncle-Aunt etc. St i ' :
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- -C. Ear -
D

142.

‘Whi '
T ch organ is most affected by e
obacco Smokm g7

A. Lungs
S

. Small Intestine

Assertion (A) : Sharda act was made |

in 1929.
Reason (R) : The government fixed
the age of girls at 18 years and boys at

'21 years for marriage.

On the basis of the above statement
Assertion (A) and Reason (R), choose
the correct answer from the options
given below-
A. Both Assertion (A) and Reason
" (R) are true and Reason (R) is the
correct explanation of Assertion

(A).

B. Both Assertmn (A) and Reason
(R) are true and Reason (R) is not’
the correct explanatlon of

2 Assertion (A). _

._C. Assertion (A) is true but Reason

(R) is false. :

Assertion (A) is false but Reason

(R) is true.

141, aﬁ@%qﬂvﬁﬁaﬁ?mmaﬁ*

A "-’Fq»‘%
B, @
C. &
D. Eﬁa"rma

- 142. $9:|=r(A) m'q'rqaz 1929ﬁa=rm‘mzm

FT (R) : . T 3 T o o gl
a5 18 ¥ T e 1 3w 21 IR
! ‘ wl e
o5 3O (A) T BT (R) SR A
frema Frehedt & @ HE ST
A W(A)aﬂtm(ma’rﬁw%
WW(R)W(A)&&HE?I
1
B, F (A) ST (R) I & &
T ST (R), A (A) R
e TR
C. e (A) UTT & qUTFRT (R) A
| D. FU (A) I & TATHAN (R) T
1

ot

lmwrw '1'[(7FPR'ELE-
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143. To prevent which diseases is DPT
vaccine given to children? -

(I) _Jaundice (II) Diphtheria 3 4 ' (I) tﬂ'm

: (III) Tetanus (IV) Whoo'pin%h cough . an B3 aIv) mFﬁG'R:ﬁ o
.+ Which of the above would be the Gt ) RFEET- L
correct option- L mﬁﬁﬂﬁ Y il '
A. () and (I1) o A Q@)
ooy ADBd QBRSS! S v vl I
'E%%?Ty'" ’ c o@wa 1
=P o A E i . e, B
e (N) p. @, (1) T (IV)
144. Infectious diseases are- : 3 a4, WEHH ATE- v .. :
() Cancer  (I) Anaemia O FW ) THEE
~ (III) H.LV. (IV) Measles — |
- Select correct answer from the options (D Qqaﬁaﬁ ) @
givensbelows S o bl T B | ﬂ%ﬁﬁﬁmﬁﬁGﬁWﬂﬁm
A and(@) Y : A (D3R
B. (ID) and (1) P '

B. (II) 3fiX (1)
A 3R (V)
D. (D), (1) 37K (1v)

CoDand@V)
D. (I), (II) and (IV)
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145 ?ﬂmgﬁ the Ofgans in the human o s, W%Wiﬂaﬁmwﬂmﬁ il
igestive system starting from mouth ¥ oA HA Y AT hIfSTT-
.~ toanus in sequence. - - 1) e
(D Pharynx (1) stomach O TN i)
- (D Oesophagus (Iv) Tleum () FEE (V) SO
(V) Duodenum (VI) Large Intestine V) Wﬁ (VD). 1 A
Choose the correct answer from the A o et # & Tt I -
options given below- i | 111 < (If) >(V)>(av)> (VD
L (I)>(HI)>(II)>(V)>(IV)> o A (.I)>( )=
(V1) .. “B. @>@>@n>avV)> > VD
B. O>()>m>av)>(V)> C. (mn> > an>(V)>(VDh>1v)
(VD ' ~D. (@)> @) > (V)>1AD)> (IV)> (VD |
C. (HI)>(I)>(H)>(V)>(W)> : :
D. (HI)>(I)>(\0>(H)>(IV)>
146. If a women’s neck gland has grown - 146. Hﬁwqﬁw%ﬁﬂmﬁa@
too much then which mineral will she s1firs e 21 1 & o 3@ frw @i T
be deﬁcient:in- | ; $r 5t 2rfte
A. Sodium ' m.
B. Potassium _ aad A ;
C. Calciuml : o :
D Todide | |  C. wfmem.
- - - D. J™ER
o SPACE FOR ROUGH WORK / 7% &Td & fory wre. B
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147. The components of dcsert ecosystem . 'GET
will be- , AT :
(D Heat, Soil, Water il :
/ ; - i
(I) Thorny bushes _ i i e, 5% ﬂ;_m 2
(IlT) Camel, Sheep, Goat, Rat i iy i & @ famea B
Which of the above would be the ! B A :
b correct option? - ! A ()
X M - | | B. (O¥aD
B. () and () . R L @eRan
D. (I), (II) and (I1I) . |
148, e A TR
148. What is Man in The Food Cham? . S
A. Producer "y o A. JdGH ke
B. Consumer L Y @ B ITET
C. Both of the above = . - N s > a:ﬁ
=D, Decomposer: ;i i sl . - T - B 0
| " D. 3TuCH
149. In the food web- s 149 T
‘; : A. Food chain occurs s =) A T Ee At &
| | ‘B. There is?o food _chain 6 B. @ e 7 i 2
Ee C. Food chain is connected , e :
iy D. None of the above _ - C. T e et et 8
; i D. TRwH &P
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150. In Grass ecosystem, the pyramid of ‘150, 5@ ¥
- biomass from bottom to top will be- R A
O Te.l_'tlary Consumer N e ST ’
| J ', {15 -B Iimary Consumer ' i (I.) S ICICED P
. - (IID Secondary Consumer . )
' (V) Producer | () fadtr
!! - The correct order of the above s )éf‘/ ) ScarEh
r components will be- , _ g et T T A BT
A. .(IV) > (D> (1) > (1) £ A (V) > (@D > () >(1D)
B. (IV)> 11 > (m) > (_I) : \ /{(tw) > (ID) > (IID) > (D)
C. (I)> () > (ID) > (IV) U e i
D - . (> 1D > >dav)

. V)>@O>@>mn
. s D, @v)>@> D> 1)
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